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sralcar & fav fader / Instructions to the candidate

1. 399t 3eR & URH R @ qd U4 Qe U9 TR 3a Qfeder A fou v g o
CATAYdE Ue |
Candidate should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

0. uliem URW @9 & qied @, 3adl s us qReda & usdrel e A o 5 guA dls
Ry T, weT A gl §I B AT uarer, e A @ A vEr & A 38 & wd gReas
¥ ggdl o |
Immediately after the commencement of the examination, candidate should check that
this Question Booklet does not have any unprinted or torn or missing pages or items,
etc. If so, get it replaced by a proper Question Booklet. ¥ \

3. um-ud 100 yst arel wh uH-gRdE | U4 TR SE & @Y aEdfas YR & &, e
el Uh R AT & & FE

The question paper is in the form of a Question Booklet with 100 questions. Questic
are of objective type with four answers indicated, of which only one is unambiguously
correct.

4 3O 3ER A AE B AT NAIR e W Ed/add wa & fau JE ate dige od
(TEIT AT rem) T & JT Al MR ofe & 3mawd fandg o 3R 3 uFe # feu av
ﬁé?ﬁﬂ?%ﬁﬂmmmﬁwﬁﬁmmaﬁmﬁgaﬁmwwﬁl
Use only Ball Point Pen (Black or Blue) for writing/ bubbling on OMR sheet. Enter ail
required details and select the right answer by marking the corresponding oval on the
OMR sheet as per the instructions given in the OMR sheet.

Please seeéthe last page of this booklet for rest of the instructions.
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10.

11.

12,

UL AN 3R g P W Rie f6ar g3n uw gidsr @8 @15 (A/B/C/D/E) 3T#H3R Me &
aiFd A forEer R gad A WA ¥ W F e W, SR gRdadr f sita @ A
ST |

Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is
mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.

Udd HEl 3 & U (+1) 3id &; 3ok d & W YeT (0) 3 @ 3R Ied I W
(—0.25) 31w forar UM

Each correct answer will carry one (+1) mark; Zero (0) for no answer and (-0.25)
for a wrong answer.

forelt ot uer & forw & fded! 1 A W 3R Ield HAT eI
Multiple answers for a question will be regarded as a wrong answer.

MNTANR Me # caragds fogd| 3fAN® NTANR Me yer= =& v Frue)
Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

UISAYEADI, AlcH IS, ot T 3rgaAfa 7@ § suah

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

TR @A W 9H U H Uy TATH & UA0T 6 1 & U fhar o wahar ¥
Ffafies e @t & ooty

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

sFAEAR A GlieT & Ugel B & AN UAT el BIsa Y AT a8 §

Candidate are not permitted to leave the Examination Hall during the first one hour of
the examination.

3FHICIR B S Dl T8 g9 AdeE B gug ) () gl Rfee (i) AT NTHIR we
(3Celidhe TANR U 3FAGAR 30 UTH 3@ Hahal § |)

Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket
(if) Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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gH TIW §F A a1 §? / Address book of email contains?
(a) Email address (b)  Phone numbers
(c) People Names (d) 39 @l / Al of above

DNS frdt 2e #1 e srala &tar g2 / DNS translates a domain name into what?

(a) Binary (b) Hex
(c) 1P (d) URL

YaH $AT Ha AT IA1? / When was the first e-mail sent?

(a) 1963 - ' (b) 1969
(c) 1971 (d) 1974

AGT AR H Ag 3 Fgr S §2

Main memory is also known as

@) rFdfREd A Auxiliary memory
(b) yrrad AFRY/ Primary memory

(¢)  @HsO AR/ Secondary memory

(d) 3@ i § 1§ 7€/ None of above

HUB & Rt & dcad & Raw &1 3udler a1 a1 rar €2 / Why would a switch
be used in a network in preference to a HUB?
(a) olead efhe HA FL F AT/
To reduce the network traffic
(b) Tt arEl & theret Y Ve faw/
. To pfev'ent the spread of all viruses
() farelt et &1 WY dit W §etee @ Fade T & fore/
To connect a computer directly to the internet
(d) o T A qrHas AT & yaerer & faw/

To manage password security at the work station

3 Post Code No. 2&
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6. frw ot 9 U A @ F v @ a1 1417 / In what year was the @ chosen for its

use in email address?
(a) 1972 (b) 1976
(c) 1980 (d) 1984

7 PPTP &I &1 32/ §? / What does PPTP stand for?
(a) 9T 9IS TrATALIST WeYaleT / Point to Point Transmission Protocol
(b) UIEE  9IgeE TAHT WEXhier / Point to Point Transfer Protocol
(c) YIge ¢ TSe e=tferar Wekehier / Point to Point Tunneling Protocol
(d) uTge € 9rge v WeYwier / Point to Point Traffic Protocol

co

HTML @T 3merr § / HTML stands for

(a) BTEUX TFEC ATHINT ol9dsT / Hyper Text Markup Language

(b) TS CFFE Ae[garereT dA7ast / Hyper Text Manipulation Language
(c) BTUN T&EC AATorer foierd / Hyper Text Managing Links

(d) T TFEE Asqyafar foraw / Hyper Text Manipulating Links

9 fFrafaf@a & @ Sla-ar LAN &1 g #2 7 Which of the following is type of LAN?

) BOWaZoQ> /Ethemet (b) et AT/
Token Ring
(c) UGSEI3ME/ FDDI (d) 3T aslt/ All of the above

10.  ge@ie w FCYET $T ggaT i A § / Computers on an internet are identified by
(a) -3 TH @RI/ e-mail address
(b) ¥l U3W &aRT/ Street address
(c) 3médr v3W @RI/ IP address
(d) 39geFd & @ B 781/ None of the above
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1%.

12,

13.

14.

15.

frafaf@d & @ #la-ar gele W o goan § wafta @ g2 1 Which of ©
following is not related to information security on the Internet?
(a) ST uafheRrsT / Data Encryption

(b) @feX ATfHaT / Water marking
(c) 31 f@urar/ Data Hiding

(d) el geT: 91 / Information Retrieval

Bit &T 3merTr § / Bit stands for

(1) ST SBIALIeT €3 / Binary Information Term
(b) s 33 / Binary Digit

(¢) sl €Y/ Binary Tree

(d) faaRue RAgra/ Bivariate Theory

frafaf@a S-aesor gew aidt §, / Following are not de-soldering tools,
(a) WresRar 3 / Soldering iron (b) T &T/ Wick tape
(c) WresTaray/ Solder wire (d)  aYerdt/ Epoxy

a§ 1983 H, ‘FEY AEE ASG H GAH vger fhwer aRenfya fmAr? / In 1983, which
person was the first to offer a definition of the term ‘computer virus'?

(a) @/ Smith (b) @iger / Cohen
(c) @Y/ Norton (d)y  AHTHT/ MacAfee

IBM PC-XT # qgal R @ g/sa & anffer fham o 39 f3%w Y arwan fhaeh i/
The IBM PC-XT was the first to include a hard drive. What was the capacity of this disk?
(a) 750 KB (b) 10KB

() 20KB (d) 1.44 KB
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16.

18.

20.

21

frfaf@a & @ sla-i@t vF Foger s agt #2 1 Which of the following is not a
Computer language?

(a) PASCAL (b)  UNIX
() FORTRAN (d) COBOL

YT N #F ARAT Fgene &: / Errors in computer programs are called:
(a) WYeler / Follies (by fAEeFE/ Mistakes
(c) «¥"/Bugs (d) €/ Spam

WIS §A ST &) &, / Fuse is always connected in,

(a) €T/ Series

(b) WHATAER / Parallel

(c) HRIST 3 WATATAR AT+ / Series & parallel combination
(d) 39 F ¥ H1§ 7€t/ None of the above

81911 / Resistor whose Four color code stripes are Yellow, Violet, Red and Gold will have
a value of

(a) 4.7KQ+ 5% (b)  4.7KQ+10%
(©) 4.7 MQ+ 5% d)  4.70+ 5%

4 e arelt aaerdy wEar sgerd & / When a binary number has 4 bits, it is called,
(a) fa&er/ Nibble

(b) aTET/Byte

(¢)  fee/Bit

(d) 3U4Fa F § H1§ 7T/ None of the above

NEA H1 AIA garr Jar § / Ohm's Law is given by

a) V=IR (b)  P=VI
© R=IV ) R=VI

6 Post Code No. 28
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22.  AREH yorell H, Th ‘AaAr HBLT €T / In metric system, one “Nano” is equal to
@) 10° ©) 1012
© 10° @ 10

3. fanelt Wlier aRay & ger wfawier R/ Total resistance R in a series circuit
(a) R % 3rehel AT A 378 gt § / Greater than individual values of R
(b) R & 3rehel AT & & AT ¢ / Less than individual values of R
(c) faggemy yatg W e g1 &/ Depends on the current flow
(d) 39 A g gl / None of the above

24.  erwy alafda star § / Transformer converts
(a) DC &% AC & / DCinto AC () AC®H DCH/AC into DC
© ACHIACH/AC into AC @ IrFIHAA &1$ =181 / None of above

25.  p-n SieFere SRS wia@e a4 g @/ p-n Junction diode is reverse biased when
(1) PBRINF+veAFadcy, NBRIABISE/

P side connected to +ve of battery, N side grounded
b PoRIcAF-veAFaFec N R IR F +ve A Fadc g/
P side connected to — ve of battery, N side to + ve of battery
© PoR¥OF ved@aagey, N BRI F vedAFagc g/
P side connected to +ve of battery, N side to —ve of battery
@) PoRIBETIRNNSR I &F 1ve A Faact/

P side grounded & N side connected to +ve of battery

26. gy Xc geifar &/ The symbol Xc represents
(a)  gfdamer/ Impedance
)  SXfore wfafsar / Inductive reactance
©  wuror gfaf$ar/ Capacitive reactance
(d)  wfaier/ Resistance

7 Post Code No. 28
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o8.

30.

w
N

CMOS & fasar ¥ #4182 / What is the full form of CMOS?

(a)  Content Metal Oxide Semiconductor

(b)  Complementary Metal Oxide Semiconductor

() Complementary Metal Oxygen Semiconductor
(d)  Complementary Metal Oscillator Semiconductor

PING fra Wersier T 3947 a1 &7 / Which protocol does PING use?

(@ TCP (b) ARP
() ICMP (d) BootP

IP U3H T HiIT-HT qoF AHfwad ufa Acas D AW 254 §IFE T3 WaTeT w1 §2 / Which
class of IP Addresses provide a maximum of only 254 host addresses per Network |D?
(a) G A/Class A (b)y a3t B/ Class B

(¢ @I C/ClassC (d) @D/ Class D

fafaf@a & @ wiaa Fogex A Fla-dt Bagw 3@ Azad & st &2 / Which of the
following device of Personal Computer connects it to the Network?

(a)  Bridge (b) NIC

(c) DNS Server (d) Gateway

waTfte farawsiia Acad eersh § / Highest Reliable Network Topology is

(a) &9 enaYaTs / Bus Topology (b) Rar aaars / Ring Topology
(¢)  FTER nYdrs/ Star Topology (d) AT AT / Mesh Topology

ST+ G&aT T HTUR ¢ / The base of binary number is

(a) 2 (b)y 8
(c) 16 (d 10

8 Post Code No. 28
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33.

34.

35.

36.

arecHleT &1 39491 § / Voltmeter is used

(a) TGN ATYET / To measure current

b ufay & @ @s # / In series with the circuit
(© IR F G GAWEL / In parallel with the circuit
(d) eI T ATY AT/ To measure coulombs

o whvdier TR 3 rer wfarer G R R ST a g/ If the total resistance |

‘series circuit doubles, current will

(a) TUTEd el / be the same

(b)  QreT Y ieah / be doubled

(c) WY dYedst wa g SITeaN / reduce source voltage
(d)  3mel a‘r St / be halved

afx 1.5 KQ, 470 0, 31 3300 Q & et wfaRer 25 diee A & q1or W0 A §, & F

afer RgeretrRr Rl @9fi? / If three resistors of 1.5 KQ, 470 Q, and 3300 Q are i
series with a 25-volt source, what is the total circuit current?

(a) 210mA (b) 5.2mA

() 4.74mA (d) .007 A

A gafT v aiay & e Fenfrar frast &2 / What is the total capacitance of given

circuit?

£ % 1F Cz% 3F CS}T 8F
@ 1F () 12F
(c) 0.615F (d 8F

9 Post Code No. 28
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37

38.

39.

41.

60 W eww it foralaic-ter @aa = ghefl, afy 150 h & e are) T@1 sme? / What is the
kilowatt-hour consumption of a 60 W lamp if it remains on for 150 h?

(a) 0.9 by 9

(¢ 90 (d) 9000

3T A3TYE Yot e & Fre faveft AND aiffore ate & Rt gee rer & arrareeraar g,
What input values will cause an AND logic gate to produce a HIGH output?
(a) T W HA T §IYe HIGH &Y/ At least one input is HIGH

(b) W HA TH gaqe LOW g/ At least one input is LOW
(©  @sfrgarge HIGH g/ All inputs are HIGH
(d)  wfrgerge LOW g/ All inputs are LOW

FlT-AT G TeF aUAS FED F w0 F Reomsa Ry o £? / Which resistive
component is designed to be temperature sensitive?

(a)  9fA¥eT/ Thermistor (b) R3NET/ Rheostat
¢  9RfRARHET/ Potentiometer (1) wreEsfFed der/ Photoconductive cell

8 Q Rt dTel ol FAMcIY sfertrersht, forert & v a1 9y arer & Qg ¥, - ot arfeveres o

=T 91? / What are the individual values of two parallel resistors whose Rt is 8 Q.
When one has double the resistance of the other?

(a) 27Qand540 (b) 8Qand16Q

(0 10Qand200Q (d 12Qand 24 Q

7200 mV §1€ET / 7200 mV is the same as
(a) 7.2pv (by 7.2V

(¢ 7,200,000V (d) 0.0072 pv

10 Post Code No. 28
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42, el OP-AMP &1 fw=ifaf@a sflreraror § / The Ideal OP-AMP has the following

characteristics
() Riz=w A=n Ro=0 ) Ri=0,A=m,Ro=0
(©) Riz=o A= Ro=o (d Ri=0,A=wRo=ux
43.  SCR &€ g SITdT § 31« TS e & o @I Srar 8 / The SCR s turned-off

when the anode current falls below,
(a) WIRas &ie e/ Forward current rating

(b)  @fesa wie / Holding Current
(c) &% 3aT arecsr / Break over Voltage
(d) ¥ sIe/ Latching Current

44.  cRO #r wagereferdr AT Y ST § / The sensitivity of CRO is determined by
(a)  WATANT TFCEIHTIIT ga@rT/ Horizontal Amplifier
(b)  FEATER TFCAIhrIT ganr / Vertical Amplifier
(c)  YHATEER gereh ganT / Sweep oscillator
(d) 9 3 @ F§ ALt/ None of above

45.  \WPA &7 3merT § / What is WPA?

(a)  Wi-Fi Protected Access (b)  Wired Protected Access
(©)  Wired Process Access (d) Wi-Fi Process Access

46.  |PV4 USH 1 3MHR giaT ¢ / The size of IPV4 address is,
a) 16 f¥e/ 16 bit
b) 32 e/ 32 bit
c) 649/ 64 bit
(@) Iﬂﬁaﬁﬁﬁgﬂﬁ/None of above
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s 3TafeT 39T Feg (38)/ SPACE APPLICATIONS CENTRE (ISRO) SET
@4%

47.

48.

50.

daefga-dl : IS IENATHTANEA&FTHTH / A
TECHNICIAN-B : I'T/ICTSM/IT&ESM
&Y §eT9¢ XOR 1€ 3% 3M3eYe YaT Fi¥et § o 318 gerqc ——— &l / Two input XOR
gate produces a High output only when its inputs are
(a)  3=d/High (b)  3teldr / Different
(¢) et/ Low (d) "HAW / Same

SelCY ddhelle @ WG §, / Bluetooth technology allows,

(a)  oiSATE BT W AETFer BT HER / Landline phone to mobile phone communication
(b)  FIHIVIT & i< SR T/ / Wireless communication between devices

(c)  AYETFer BT 9T Wehel I9OT / Signal transmission on mobile phone

) 39U eeNfdsrel WaR / Satellite television communication

BCD I8, 0100 0010 1001 AT & WHHSET &, / The BCD code, 0100 0010 1001 is
equivalent to decimal,

(a) 429 (b) 239
(c) 538 (d) 339
HeeIcaaray T 3MAT &, / Multiplexer means,

(2) W FeTYe 3felsh IT3CYE / One input many output
(b) 3% FoTYC TS IHT3CYE / Many inputs One output
(c)  3Telsh oTYE A HT3EYE / Many input Many output

(d)  TH FeTqC U HTICYC / One input one output

12 Post Code No. 28
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B1.

52.

53.

54.

55.

Prrrfafad aRur &, 7R R1 = R2 = R3 = 100Q, Requivalent &I HTT g1em / In following
circuit, if R1 = R2 = R3 = 100Q, then value of Requivalent is,

1, AP ‘ Ay

RL T R2 R3

| ®

| {

| |

‘é < R equivatent 4 (L
(a) 300Q (b)y 10 KQ

(¢ 33.330 i (d) 100 KQ

A + BC % fare et @ gforarer @ @t &/ Which Boolean relation is TRUE for A + BC?
@ (A+B)A+0)

(b)  (AB) (AC)

© (A+1)(B+C)

() 39gFdH A F§ AL/ None of above

RreTEY 1011.11 T gardAea AT FAT8? / What is decimal value of binary 1011.117?

@ 11.75 by 11.3
¢y 10.75 (d) 103

aerHed 12 ¥ fav vadw-3 #1E §, / The Excess-3 code for decimal 12 s,

(a) 01010100 (b)y 0100 0101
(¢ 10100101 (d) 0100 0001

3¢} Ao 3, THATH-OR AT HT AT3TYT HgelTdl ¥/ In half adder, output of exclusive-Of

gate is called,

(a) SUM

(by  CARRY
(¢ ERROR

(@) SHEFTAADE sTé1 / None of above

13 Post Code No. 28
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57.

59.

P-ergy srtfared ward & sfdwier dRTE @ § / Majority carriers of P-type

semiconductor material are,

(a)  @re®/ Holes (b) sAFeleH / Electrons
(¢ WeWwHd/Protons (d) #gel=¥/ Neutrons

fArFfaf@a & @ sla-ar Foger & AfREY wse wEfe w1 fAar §2 7 Which one of the
following is an extension of video file format in computers?

@  jpg (b) exe

() mpg (d) bmp

0S| \tser # frelet AT g1 €2 / How many Layers are there in OSI model?

(@ 6 (b) 5
© 7 @) 8

Ted |P Uhe & a9y i1 TR, / Each IP packet must contain,
(a) T @ia €38/ Only Source Address

(b)  HATH IGST TIH / Only Destination Address

(¢) Y 3% 3Tdeq v3W / Source and Destination Address

(d)  TH A 1§ AL/ None of above

3t FaTer-thot qof-arder fersealY &1 RMS 3m3eqe aledsr g1 ¥, / RMS output voltage of

an ideal single-phase full-wave rectifier is,
(@) Vpeak / v2
(b) V2 Vpeak
(© V3 Vpeak

(d)  39YeFd H & H1§ w1gT/ None of above
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61.

62

63.

64.

(o]
n

66.

ac ader & angfea it wramaity & < H&er g STar &, / The relationship between the
frequency of ac wave and the time period is given by,

(@) F=1Tg@rr/F=1/T b F=Te@RI/F=T
(¢ F=1/T2E@RI/F = 1/T2 (@) F=T°ganri/F=T?

o SETRET HieT aTeT WHTRA / Capacitor that can have the highest capacitance value i<
(a) BaFcramgie® / Electrolytic (by TSR/ Mica
(¢) Taufde / Ceramic (d) 99X/ Paper

220 O 10% STaRYEra 1 auf 18 87 / What is the color code for a 220 Q 10% resistor?
(a) T, ole, HN,.WTI/ Red, Red, Brown, Gold

(b) IR, A, @Tem, oTg0 / Orange, Orange, Black, Gold

(¢) e, ofTel, Tell, Yoigdl / Red, Red, Black, Gold

(d)  ©Tel, @Tel, {0, Lol / Red, Red, Brown, Silver

wW*mﬂ#maﬁmqﬁﬁfrﬁzooﬁ%l S g AL § TG AT, 21
mfrﬁwVACﬁm?rﬁmm%,Eﬁ@%sﬂ#ﬁmmmmﬂmm?/Atranss:.. i

has 50 turns in primary and 200 turns in secondary. Assuming no losses, if 15V AC
signal is applied to primary, what is voltage developed in secondary?

@ 15V (b)y 30V
(¢ 60V (d) 240V

FieT-|T difere aTida der g7 / Which of the logic is fastest?

(@) RTL b ECL
(c) T1E (d)y DTL

VHF a8 &I Wiﬁ@?ﬁ% | The frequency range of VHF band is,

(a) 30 KHz -3 MHz (b) 3 MHz- 30 MHz
(¢ 30 MHz - 300 MHz (d) 300 MHz - 3.0 GHz
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67.

68.

69,

i !

TG

IC/IE &1 faggetmr st @aeaa: vh d wa drag dgarard; / A current ratio of IC/IE is
usually less than One and is called:

(@ e (B)/Beta (B) (b) of¥er(0) / Theta (6)
(c) 3o (a) / Alpha (a) (d) AT (Q) / Omega (Q)

250 W T dY 250 V AC 3Rt & siwtre §1 ofq Q a[oret arelt Riezgeemr gy, / Lamp of
250 W is connected to 250 V AC supply. Then the current passing through lamp is,

(a) 1 mA (b) 10mA

(c) 100 mA (d) 1000 mA

AR AT 22 | aGTHT 26 AWG FT &) 9T/ By increasing the wire gauge from 22 to 26 AWG
(2)  wfcRYersar # gy §1eft/ Resistivity will increase

(b)  wfaRer & gfg @Mt/ Resistance will increase

(0 wutRar# gfg @9f/ Capacitance will increase

(@  Rfoeea 7 gfy g19ft/ Inductance will increase

9AR LAN & T IEEE 802.11 #TeTeh gaRT Ry Hed1el el avalier &7 392197 R s
& / Which multiple access technique is used by IEEE 802.11 standard for wireless LAN?

(a) CDMA
(b)  CSMA/CA
(0 ALOHA

(d)  39GFA F § F§ AL / None of above

FTP &1 3 g, / FTP stands for,

(a)  File Transfer Protocol

(b)  File Transmission Protocol
(c) Form Transfer Protocol

(d)  Form Transmission Protocol
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/2. Hoget Acad ¥ Gravdre F4T gidl 2 / What is firewall in computer network?
(a) oteaw $r atfae @A/

It is a physical boundary of Network
(b)  FET AcaH hY HraRfEeT yorrelt /
An operating systems of Computer network
(0  3reTferget 3rfdvare dhr Qavams & fore arfdrsfead yomelt /
A system designed to prevent unauthorised access
) A9 3T Wireaay /

A web browsing software

73.  §T a9 vgW YR, / Every web address starts with,

(a)  http: (b)  http://
©  htpp/f: 7 (d) http=

74, g U BIFA F ahqH HeT ol § i, / Each Excel file is called a workbook
because,
(a) FEH TFW AR SergNaTE/
It can contain text and data
b) & 3N P ST Eeharg /
It can be modified
© sHH adede it aiéedie afa 3w e it §
It can contain many sheets including worksheets and chart sheet
(@ T e & T TR HF AT HEA I3l ¢/

You have to work hard to create it

75. e ¥ yhR & ar & AT gaer vaw #ar g1/ The
gives specific information about the type of file.
(a) Filename (b) File path
(c)  File extension (d) File content
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(1001010)2 = ( )16

(a)

4C (b)y 3F

77,

78.

80.

() 4A (d) 5A

CD ROM T ®ehfad HATH FERT 39HVT §1 CD ROM &1 F41 3mer §1? / One of the
popular mass storage device is CD ROM. What does CD ROM stand for?

(a)  Compactable Read Only Memory

(b)  Compact Data Read Only Memory

(c)  Compactable Disk Read Only Memory

(d)  Compact Disk Read Only Memory

WAN siead # Haifliss uged osq §, $9&1 q0F & F4T 82 / WAN is a most used
abbreviation in Networking, what is its full form?
(a)  Wap Area Network (b)
(c)  Wide Array Net (d)

Wide Area Network
Wireless Area Network

3T HAR 3UHOT H, Fier-a1 3usor Fsfiee 3e1 ) varaltr a&a & aRafda Fwar 2 / In
data communication which device converts digital data to analog signal?

(a)  Router (b)
(c)  Switch (d)

Modem
HUB

HIT-HT AT 3 (Acah o) Wekniel § ? / Which one is a layer 3 (Network Layer)

protocol?
(a) UDP (b) DNS
(¢c0 TCP (d)y IP

AIETST & GHBET §, / The term megabyte is equal to,

(a) 1024 bytes (b) 1024 kilobytes
(c) 1024 megabytes (d) 1024 gigabyte
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82.

84.

85.

86.

RAM gYdT &, / RAM s,

@ dmBferb/volatile

b A dmBferb/ Non-volatile

(¢) T4/ Permanent

(@)  39geFa A & 1§ e / None of above

ot 39T qae sisTe &T ehar ¢, fiq frer adi @ehar g1 / Following device
stores the information but cannot erase it.

(a) &S f3%FF / Hard disc (b) #E-TF/ CDROM
() T 3% / Floppy disc (d) FodFa @it/ All of above

Rrrafafad & @ Fie-ar a8 BrEer & forw dor RAFR §2 / Which of the following s a valid
extension for a word file?
(a) Xis (b)  wmv

(c) roc (d) doc

RretFT U HATS “‘cp’ & TR 7 FA AgE WIod T Whd ¢17 / How do you get help about the
command “cp” on Linux?

(a) Helpcp (b) Man cp

(c) cd? (d) cdcp

ﬁmﬁmmﬁﬁmﬁmmmmﬁmmﬁ? / What command is used

to remove files on Linux?
(a) dm (b) erase
(c) delete (d) rm
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88.

89.

90.

EEPROM &, / EEPROM is,

(a)  Electrically Erasable Programmable Read Only Memory
(b)  Easily Erasable Programmable Read Only Memory
(c)  Electrically non-Erasable Programmable Read Only Memory

(d)  IodFa |/ All of above

€ ARRY YOIl & W & —— & wanfaa &war &/ Boot virus affects the

of the program of a system.
(a) ¢ Rep18s Wam# / Boot recorded program

(b)  qfET FHTIET / Booting computer
(©  qegees/Boot halted
(d) ®EAF/ None

Modulation 3it demodulation & fore Rw=faf@a & & fvaeht 392er fear strar £2 / Which

of the following is used for modulation and demodulation?

(a) HARA/ Modem (b) WYl / Protocols

()  ded/ Gateway (@) HAECAFET / Multiplexer

RJ45 UTP &ae # ——— daed g1 ¥1/ RJ45 UTP cable has —— cables.
(a) 2 SN8Y/ 2 pair (b) 38/ 3 pair

(¢ 43NE/ 4 pair (d) 53MEr/ 5 pair

DHCP &1 9ot &9 &, / DHCP is the abbreviation of,

(a)  Dynamic Host Configuration Protocol
(b)  Dynamic Host Control Protocol
(c) Dynamic Hyper Control Protocol

(@)  394Fa A { FE 71/ None of above
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92.  3fiaer 3 oW &Y wfeer @Y €, / Gain of amplifier in decibel is,

(a) 10 log (Pout/ Pin)
) 20 log (Pout/ Pin)
(¢) 20 (Pout/Pin)

(d)  Sudda A & HI§ a€l / None of above

93.  QLED &1 90T &7 ¢, / OLED is acronym for,
(a)  Original Light Emitting Diode
(b)  Organic Light Emitting Diode
(c) Old Light Emitting Diode
(d)  39¥ed & & F§ T/ None of above

9. zuds ¥ FAeTa I¢ S ST §, / Touchpad works on principle of,
(a) wenfar @ags / Capacitive sensing
(b)  SROT HAgeT / Inductive sensing
© MmbH$s @agst/ Conductive sensing
@  (a) 3r¥ar (c) / (@) or (c)

95.  DAT giga e, / DAT drive is &,
() FEeftesr &0 RaFTST/ Digital Tape Recorder
(by 321/ Data
(¢cy  shrer/Dongle
(@)  3udwa & § F1§ w/ None of above

96. 100 mA WHAHET §, / 100 mA is equal to,

@ 1A (b) 0.1A
(c) 0.01 A (d) 10A
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10 Q & ar wfae FArieR 573 § &Y o wfaier €9/ 1f two Resistors of 10 Q are

connected in parallel, the total resistance will be
(a) 100 (b)y 200
(0 5Q (d) 1000Q

frfaf@a & & a1 gaiftrs st 31 wawor Ameasr £2 / Which one of the following is
the fastest data transmission media?

(a)  EfaEes 99T/ Twisted pair
(b)  HCfEFFI / Coaxial

()  %e-5/Cat-5

(d)  TFER-3TeFH / Fiber-optic

ST9 &1 geTsere L1 3 L2 AR &, $6HT GaraeT SRured &9, / When two inductors L1

and L2 in parallel, its equivalent inductance is,

L, xL, L, +L,
— b
@ LT e
) Li+L, @y Ll

afe 10KO Fferelt 10 V 3fet v arepreer T wime, it Rrazgeemr @9/ If a 10KQ resistor is
placed across a 10 V supply, the current will be

(a) 10 mA (b) 1.0mA

(c) 0.1 mA (d) 0.001 Ma

22 Post Code No. 28



zwil|isFa daaRge-dY : rSABTSNATHTASA&FTHATH / A }

TECHNICIAN-B : IT/ICTSM/IT&ESM
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H$f0 H$m‘© H0$ {bE AWmZ/ Space for rough work
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